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Note : It Is compulsory to attempt (& -- 6 ) parts each from Q.No.2,3 and 4 and aftempt any (03) questions
from Partil, Write same Question No. and Its Part No. as given in the question paper,

36=12x18 (Partl) Jio 3 Iidake diagram where necessary. - l'r.d'(fxduﬁuﬂ
Find the lowest term : Bw P—q ,- zL 8x3y2 -ér’lv P L'{f/‘:? i) 2/,"}1:}

12x° .

-@-‘(}“P(r)ié A ’-'—27&11lr=3 InP(r)= 2Rr Ji (i)

¥ P(r)= 2Kr then find P(r)for r = 3, =%

-é{:“’c—fJ(azi-bz) Jn ab =12 40 a +b = 8 )7 (iii)
It a+b =8 and ab =12, then find (a2 +b?),

Factorize, ax+ ay-xz-xy -f—j_‘-’df (iv)
Factorize, K- 81 i m
Define Remainder Theorem. ~£\-§'/J J JLP (vi)
Find the LCM. of 3x%y? | 2xyz P Sobns ¢ 532, 2z i

& i § Fy £ Fision A Tun &g aa fom
If A and B aretwo Algebraic Expressions then write the Equation of Relationship between H.C.F.

and L.C.M.

-'é:r('#h‘ ry’-’b 67 25 ¥ Crea x*. 16 (ix)
{ Find H.CF. of x2-16 and O+ 64 by Factorization Method,
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Solve. 5x 6 = 4x -2 S 3y
Solve. - (x-3% = 4 2 i
Solve. (90 - 9x) - 90 = .27+ 9 -2‘_—1}" Gy
Define Quadratic Equation with One Example. ..Z.“n)lﬁ*..ﬂ »l é.._gf" J =l s (iv)
Solve. [x]=9 EJS )
“ 2 .3 2 3
X =2A+B £ & X" It B = [4 4] s A = [_4 1] A
; 3 2 -3
Solve the Matrix Equation for 'X' 3X = 24+B if A = I; 4 1 ] and B = R 4]
1 -1 )
Find the Matrices Product, [2 5] 2 3 S LA Luds i)
If A= [': 3] then Evaluate det A _z_fr,ly =ff detA; A= [—1 3] S (i)
-3 : : 1.3
Solve. 2(7x-6) =3(1+3x) -éd' (ix)
Define Reflex Angle and give example. &l é.__g/’ g 4y e Q) 42y

S ¥ i 3 Wl € Lol sty g une SN il S i)
If two angles are Complementary and the larger angle is four time bigger than smaller angle, how
many degrees are there in each angle?

-2{....9/‘7 J U L e o (i)

Define Radius of a Circle.

Consiruct a Square with side of length 6 cm. - GJLJ J bb yrRv4 ik, S (iv)
Define Angle Bisector of a Triangle. -é._g} S oy L el (v
Define Area, Ay 21 (vi)
Differentiate between Cube and Cuboid. e J/ W 8 Aol Ll o i)
Locate {2,-4) in the Coordinate Plane. _éﬁu,' £ Ut s (2, -4) oy

e Suln £(2,1),(-4.3) iz £46 £2, gx)
| Find the Distance between the given pairs of points {2,1),(-4,3)

V.




( Part 11 ) (122>

BwP- Gy 22

T
ab+bctca=7 4l a +b2+c 32 ﬁz,’rﬁ'JJ(a+b+c) )} 5/.)1,,;

Find the value of (a+ b+c) when the value of a +b2 2 _ 32

and ab + bc + ca = 7

(4) Resolve into Factors. y2- Cak? + 2¢ex &gz (L)
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) Find LCM. by Factorization, x3 + 64, x2- 14 e Poions ¢F s (a6

5 6
() Solve by using Completing Square Method. EJS &/J’L 2s3 (L) 7/d'r

l
1]
3x2+5x-4=0 :’
]
1]
2T1 2 e o 1o AN 12 |
4 = P -
@ Le M [34],fmdM e ML 5, M—[34] A )
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l Bulue X+ 3 X+ 2 x+5 P

1 (4) : i - € v S -2 ()
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L) X=6=3y, mea=L LW [ i S e3P L ) (L 8 s

} Use Cramer's Rule to solve the given Equations, x = 6 - -3y, 2xx~-4 =_y '
]

| . :'

! () Draw a Square whose One side is 5 cm, - }ﬂ:‘k Sélﬁ (Lﬂé.b: d/ Li ) i

/

‘ ‘

§ @) EEP 36 Lt 23200 RE150 ¢ 255120 e Gt 2w L) 9y

[

H Find the Area of a Triangle whose sides are 120 cm, 150 em and 200 cm,

|

) U UL L el et LiC (6, -7) #1 B(2,7), A(6,1) WS ek (L)
Show that the points A(
Right Triangle.

6,1),B(2,7) and C(-6,-7) are Vertices of a
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General Mathematics " B ] L.K.No. 113 Paper Code No, 726 (ol JJ

)
Paper Il (Objective) (8sC - A -2022) (Group | i/ ) GAsy”)

Time Allowed 20 Minutes Il e 20 ’
15 : S

Maximum Marks Sesslon(zma -20) to (2020-22)

g ﬂaP—nge__ © Gy —

‘-_u(.&ﬁu’ v ub_-lvduvﬁ_.-l?./ur_.u‘uubcfc..:;l«[.dlr//l.éb’d'i-'ulég.) D,C,B, A=zl Jiry
. h’mr"wuliufl (7 A0 u/fJ 4_/4/ h’}/.../.;fu:/'m 579 J (B4 14

n are given. Which cholce ic correct, flll that circle Infront of that question
utling or llling two or mora clrcles will result in zero mark in that question,

Note : Four possible cholces A,B,C,D to each quastlo
number. Use marker or pen Ink to flll the clrcles, C

P !
The Co-ordinates of the Origin are : : U Lnehse £ "‘/! l/‘)”f‘
00 (0,0 o (1,0 (g (0) (A) i@

' Atea of a Rectangle is :

1 i 4
xl+b D) Ixb {( (B) Tx1+b (A) | i}

3 i
The number of Angle Bxsectors in a Trian le are : CE Lt £ ggls S 2] (3) H
| "
o 5.0 1 © s (B 2 (A) i ]
i The Sum of the Angles of a Triangle is : Coebtn A g £ st ¢ (4) ,z
180° m{ 270° 360° (8) 90° (a) : it
¥ i :..d.n P J u:)K » U L ..JGu"'/, (5) N

Ina Square Mamx the number of Rows and Columns is

2x1 (D) Same ulI (Cfsx (B 2x3 (A)
Pl uxulfub’ﬂd.vu;,la/éd..)a'u (6)

ding elements are called

Two Matrices with the same order and equal correspon
Diagonal Matrices . J6S%  (B) Equal Matrices sl (XY
Unequal Matrices  _J5il-3 (D) Square Matrices e, (Q) |

)

et ¥ 2= 9. (7 !
{ t

o

Solution of 22 =3 fs
S Lol o fe3) @ (o) o (o) w
x2+2x= -1 has the Solution : . D eenfy x2+2x=-1 8)

1y B 09 {a) ® {-1,.1} @) o
' <.ruf/uf.,zu““f" X" s p (9)

] For each number " x *, the absolute value of “x " is denoted by :
0 @ |x| vz/ KB x W

L : A
:;..»-J’(]X|=3 (10)
W
0 o) 3 © -3 ® 3 (A)

N\ W A—— PV T e
LCM. Jbah; (B) HCE. Fe (&)

HCE + LeM. Jisbsns + *he () HOF x LoM. Jiokn « Fe (o

4 P(1) ;"P(")=x +I+5x-2x2 Vs (12)

Solution Set of |X [ =3 is .

1 1€ P(x}—; +1+5x - Zx then P (1) will be :
o e ses & ]

= 4 A
Factorization of 34 -1 is 1 ﬁ-—b‘i J a w1 (13)

(a”+ 1)(a+1) (D) (a *1)(8 '1) (C) (a 1)(a *+1) (B) (a - 1)(3*‘1)(3 +1) CK)' .
An 'Irratxonal Number that contains Radical Sign is called : : < b sl J Jie LS uq}t/ \.fl (14) |

Natural Number wduJ (D) Rational Number mu‘t (C) Surd (uw fﬂr Mixed Surd (‘l N (A)
De i S+ 3ab(a+ b)+ v (15)

1ads 3ab(a+ b)+ b = !
: 3. 2+60 @ (a-v)° @ (a+bP K

(D)
SRS\ <GS —

Scanned with ¢



Paper Code No. 7266 ot b.JJ
Goneral Mathematics ¢ L.K.No. 114 ap EAS 1
)
Paper Il (Objoctive) (ssc-aA- 2022) { Group 1) ‘f’f’ 2 ;
- <A . =
Time Allowed ! 20 Minutes SSC (Part - 1) Ey
15 :  AF

Maximum Marks : 15 Session (2018-20) to (2020-22)

BuA42-22

l
:,LN—J u‘&):t rs D.Ih.plu'duv&nrb'u/ﬂc_ 74 u.uhtﬁ“,_..:&b&.)!r,;{;})'dv.w &CL; D,¢,B,A .,,pi,,ﬁkédlrﬁ : u,).
i LS L.f.cf.:f&.’._f‘/wzhu})r— S/

f
!
1
Four possible cholcos A,8,C,D to each queslion are given, Which cholcs Is comsct, fll that circle In front of that question i

No!e i
number. Use marker or pen lnk to fIll the clrclos. Cutting or Rllingtwo or mors clrcles will result in zero mark In that QUCS“”

{

i Product of two Expressions - ‘,Mb’wkdﬁ{' H# ' I/J'r
\ =7 I el

{ H.C.F. plis |

! P {
i

!

|
‘i

HCF.x LCM. J’uwm X ,f“uh (u) ¢ (C)LCM J’uws (B)HCF ,f"uu(A) ,
: : {xl’(a) 7;; J/,n’t’(x) x-a A 2) t

' ox-a s a !‘.\ctor ol' P(x) lhen P(n] ?

e DL Q) s (B) 0 (A O PR
33~3Jb(avb)- =2 ;) (3)

:(_N';./l‘/._a")’bp( x'.vdﬁ: )

X ", the absolute value of * x " s denoted by :
I ® 0o © -«x B x (A

1 For each number *

]

]

]

)

3 3 3 3 r

R L R PR O B PR UL R SRR I }
. % O % R RPN S - i s T - ’

!

i

'

[}
L A Straight angle contains e tn .?/:V(.;:;:‘;, {5)
180° (D) 36° (0) 20° (B) 90° (a) ,f

e e —

la Matrices (AB) ! = 7 c(ABY e 2Lk (6)
=1 :

gl (D) 4 A"B'1 © BT @ 4 &

A ane‘nr Equnhor‘ in Onc Vanabl-. Is of Degree : c.bt wt’u':laubut/"'.f 7)
3 D 1 © o @B 2 (A)

';l‘.hé Alii‘t.ua.e's.;-f a. ;Triangle are : JL.J!' Loa L L4 Ak (8)
' .5 (D) Concurrent f/{,b'.f {€) Non-Collinear B34 (B) Collinear B (A i .
{ H + J—- is Con)ugate Blnomml Surd of : e oS ST+ \l_' 9
S A - R - T L T R L

L Lt ahe Lm.( r_dx e o »El:;a '(16) E

‘ A point in the first Quadrant is characterized by the fact that both its Co- - ordinates are
l

{ Positive and Negative both ysh sl =t (D) Negative g (C) Zero po (B) Posnlive ..—- (A)'

Area of a Square with Side " 5" is et ¥ anse CP ¥ .,f & LvH (ll) {
[ 1]
4S D 25 (© s (B & ® ‘» \

i
l
M
l

H.C.F, of 2x3y3, 4:(")'4 is . (s":\sf 2,3 y 4xy 1 (12)

i L3 o 2 @l m ed |

SR

,(The polm ( 2, 4) lies in Quadmnl f—d"(): d,( 2 4) yi (]3)
.o um 8w e w

} Cet EE By u,vt d::’ [. LM Z ,e,l}-\ (14)
' The point of Intersection of the Perpendicular Bisectors of the Sides of a Trlangle is called : i
In- Centre /90"' (D) Orthucenter Loy (C) Circum - Center f//'b’ (B) Centroid 5§, (A) l
J 2 -b b2~ gac i
by = . _.__L-ﬁc__ is calfed : :q_tﬂ{ e (15)
‘ 2a 2a
Linear Equation- ,qu” (D) LCM. Juwn (C) H.CE. (5’:,& (B) Quadratic Formula ¥ 1 ol l
--------- D101 DA 40 SR .
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General Mathematics (Subjective) [ 60 /J ¢‘*_‘.f 2:10 =% |8SC - A - 2022 ( ::c?;) Ty JJ 2 “i"i

UM evride Mo e o gnffeyn S (66 Iedvrek 4 03 2 Pl il P
-:‘_bJJ{;'4,J‘r.CZQI L7 sl /J‘M}{Qh’dlﬁ
Note : It Is compulsory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
from Partll. Write same Question No.and lts Part No. as given In the question paper.

I6=2x18 {Partl) Jio i LMake diagram where necessary. ./ t. % ;E,qd,,/'u{ﬁ l
5 _ :
Simplify. Bw P -4 }'D 74z 22 Ay

29

Rationalize the Denominator. m pf"k;J*tfb)' (ii)
' Define Mixed Surd and give example. S ndEas s i
Resalve into Factors. 64'+ x* -év:w LGPtz (iv)
Define Factor Theorem. gy dj:b v)
Factorize. a3 + b3 +a+b .Z:dyf- (vi)
Define L.C.M. -Zog S P wi

-’,é(}"c..{'(,( “a' ¥ x-a r‘vbb( x>+ 3x -18 ! p_ A o)

If x-a is the H.C.F. of x2- X - 6 and x2+3x -18 , then find the value of “a",

Find L.CM. by Factorization. 21 aqxsy, 35 a2x4y, 28 asxy‘l J-_i:r:"‘ J’.I.J(sibi df;_w'; (ix)
Solve. L.k i S0 3
X + 6 S "
Solve. Xx-7 2 5-2 i)
Solve, [3x+4|=9 “Z5 S (i)
Define Quadratic Equation. gy <bbefar 1 (iv) H
Find the values of "x" . 25kt 6= 0 -é()k' ] Srx v (
wox 3oj_f2 1 .
Find "w " and "2 " such that : [y z]+[-1 5:,"[5 .3] }2{(3"’ "zl v (Vi)
a b f - - T - a b
If Ag[c d] then verify AL, = A AIz—A_é # M A= [c d} A i
1 - 1 . 7Y
Find the Matrices Product. [2 5] 2 3 -z;r;"’ e ¥ uds il
' : £ -8 -4 o s .
Find the Determinant of : -4 -2 & -'I"LV &"’ (ix)

Write down the angles
marked with [etters.

S B g 1 4y

Define Chord of a Circle with Figure, A g3 80l e n i)
Define Tangent of a Circle. _éb‘-,}'l g wwlen (i)
Define Altitude of a Triangle. “2{4}3 S L) & ais @)

-y /.{C?f 5. 3015 z¥ (fé-b EE oy ot S )
Draw an Equilateral Triangle with length of each side is 5+ 3 em.

Find Volume of a Cube whose Total Area is 96 cm2 - /"-'Cf"&/ 96 J;(f‘ J ¥ 2.';7(}*‘ f ¥ .,;f L (vi)

The Diagonal of a Square is 14 cm. Find its Area. _ér,lv BAEY: ey KE uny & i

Write the Distance Formula for any two points. _g‘ﬂ_y ¥ Aot s £ 48 5 ‘féf i)

Locate (7,-5) in the Co-ordinate Plane, _g-fﬁw‘ { Ul I (7,-5) (ix)
PT.O.
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LKNo. 114 |  [ratmpme]  BeoZ G2

2
4 s . X + X @, %
@ Simplify 5 X ’;+ 1 A (W) 540
x“=1 x’+1 ’
(4) Factorize. x4 + x2 +1 -é dﬂ’ ()
@ x # 0 .és—dfd’f-—.ﬁ x4+4x2+x+'87*"%¢(~=»3/b("x"(u"0 6l
X X
W TN 8 :
For what valueof "x" X +4x +X ""x'z' + xi‘f is a Complete Square
Where x # 0
) Solve. x-1 -{x-4-2=0 ZS Q)

-5x + 10x2 =15 -éf_f‘fe.u J J(ﬂ» » () 7/;]!:'1

(4) Solve using Quadratic Formula.
(4) Solve using Matrix Inversion Method. -é,{J'aJ_}L ..JFJ;‘ ()
3x - y=10
x+3y =3

@) x=6-3y, x-4=-Y ,é‘)'fuil,ué{b e Ip LS (DD s

Use Cramer's Rule to solve thegiven Equations : x = 6 - 3y, x-4=-y

(4) Construct a Square whose One side is 5em. -7 K5 é‘ ya g gy Al () J
o B(6,2), A(2,4) 36 S et () 9/‘):,«;

@ -UF BB B C(4,3)
Show that the points A(2,4),B(6,2) and C(4, 3) are Collinear.

) oS /'4(3{ 3w S 2.’-:(:‘"(; ¥ 7P L ()

Find the Volume of the Solid Sphere with Radius 3 em.
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